Atomic Structure
Worksheet

Choose the correct answer from the given options.
1) The number of protons in an atom is equal to
a) Number of electrons ¢) Number of shells

b) Number of neutrons d) Atomic mass

2) The subatomic particles which revolve around the
nucleus are?

a) Neutron c) Electron
b) Proton d) Nucleus

3) The central part of the atom is called?

a) Electrons c) Neutrons
b) Nucleus d) Protons

4) ____revolve around the nucleus in fixed orbits.

a) Protons c) Electrons
b) Neutrons d) Atoms




